


UNIT 7

Complete the sentences with the correct words.

	currently
	related to
	shrunk
	vanished
	worldwide



1. The boat 	in the storm and wasn’t found until two weeks later.

2. We are 	deciding on the new menu for the restaurant.

3. The increase in heavy floods and wildfires is directly 	global warming.

4. Temperatures 	are increasing because of climate change.

5. Many products such as potato chips and sodas have now 	in size, even though prices have remained the same.
ANSWERS: 1. vanished, 2. currently, 3. related to, 4. worldwide, 5. shrunk
POINTS: 5


Choose the correct word to complete each sentence.

6. Carbon dioxide is a 	contributor to rising global temperatures.

	a.
	major

	b.
	limited

	c.
	practical


ANSWER: a POINTS: 1

7. The amount of gold in the world is quite 	, which is one reason it is so valuable.

	a.
	invested

	b.
	limited

	c.
	consumed
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8. Nowadays, some people 	more news than ever due to social media and the immediate access to it.
	a.
	invest

	b.
	regulate

	c.
	consume


ANSWER: c POINTS: 1

9. We need to 	our U.S. dollars into euros for the vacation.

	a.
	emit

	b.
	exhaust

	c.
	convert


ANSWER: c POINTS: 1

10. We have nearly 	all our options and there is no choice but to speak to the client and explain what happened.
	a.
	invested

	b.
	exhausted

	c.
	consumed


ANSWER: b POINTS: 1


image2.jpg
PATHWAYS Reading, Writing, and Critical Thinking  THIRD EDITION 2?8&')‘3,‘%

LEARNING




image3.png




image1.png




image4.png




